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Ch 1.2b notes                                                                                                                        Blk: ____  Date:  _________ 

Ch 1.Biotic Interactions

Key concepts in this section:

· Organisms within communities constantly interact to obtain resources such as food, water, sunlight, or habitat.
· Examples of these interactions in ecosystems include: commensalism, mutualism, parasitism, competition, and predation.

· Every organism has a special role, or niche, within an ecosystem.
A)  Symbiotic Relationships
Symbiosis: 

· A relationship in which two different organisms (different species) live together in a close association.
· Examples of symbiotic relationships include:

I)  Commensalism
· One organism _________ and the other organism is not affected, neither helped nor harmed.

· Often one species provides shelter or transportation for the other species.

Examples:

· Crimson (red) anemone provides shelter and protection red shrimps.

· Whales provide transportation for barnacles.

· Clown fish hides in anemone.

II) Mutualism:

· A type of symbiotic relationship in which _____________________.

Examples:

· Bee gathering nectar from a flower

· Ant catepillar mutalism: ant feeds on the catepillar’s sugar-coated body while the ants acts as body guards

· Reef symbiosis (smaller fish feeds on the microorganisms and parasites of larger fish and turtles who in turn get cleaned)

III)  Parasitism:  one organism benefits and the other organism is harmed.

· A _________ is the organism that a parasite lives in or on.

· A parasite is the organism that benefits from the host.

Examples:

· Mountain pine beetles destroying a lodgepole pine forest.

· Tape worms and parasites live in human bodies.

B)  Other Biotic Interactions in Ecosystems 

I) Niche:

· Refers to the __________ an organism has within an ecosystem

· How an organism fits into and contributes to its environment physically, chemically, and biologically.

· This includes how the organism interacts with others to survive, grow and reproduce.

II) Competition: 

· An interaction that occurs between two or more organisms when they need the same _______________ (such as food) in the same __________________ at the same time.

· Competition can limit the size of a ____________________ because organisms need energy to compete as well as to grow and reproduce.

Examples: (BC Science, p.45)

· Too many plants in one area.  Plants compete for water and nutrients.

· Too many coyotes in one area. Coyotes compete for food.  Coyotes will hunt alone when food is scarce but cooperate with each and hunt in packs if larger animals, such as deer, are available for food.

III) Predation:

· The relationship where one organism (the predator) kills and consumes another organism

      (the prey).

· Predator:  __________________________________________________.

· Prey:  _____________________________________________.

· Adaptations:

(a) Predators have adaptations to help them catch their prey

· E.g. _____________________________________________________
(b) Preys have adaptations to help them avoid predators:

· E.g. ___________________________________________________
· Mimicry:  An adaptation in which a prey animal mimics another species that is dangerous or tastes bad. (Fig 1.2, p. 46)

· Population Fluctuations (Changes):

· The numbers of predators and prey influence each other.

· The prey population grows when there are few predators.

· The prey population shrinks when there are many predators.
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2.  How do you know which line represents the predator? The prey?

Since the predators kill (prey on) the preys, 

· as the number of predator __________________, the number of preys would _________________ in the following year(s), and

· as the number of preys _______________, the number of predators would _____________ in the following year(s).

· The pattern __________________ as a cyclic relationship.
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Use the following graph to answer question 1.
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1. The lynxis a predator and the snowshoe hare is a prey. In which years did the predator population
decrease, likely due to a decrease in the prey population?








